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s AB=2xAM =2x6V3=12V3(cm)
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/B = 180° x ﬁ = 80°
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£C = 180° x — = 60°
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5cm, EC = 3cm 4 o, AB 9] 24
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@ 10cm @ 12cm ® 13.5cm
@ 15cm (@)17cm
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BD = BE = 5cm,EC = FC = 3cm ©|1L
AD = AF = xcm 2} 5FA
4707k o] stk Halof ejapA
AB’ =BG +AC
(x+5)% =82+ (x + 3)2
sox=12(cm)
o}2tA AB = 17cm ©]th,
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@ 10° @ 20° ® 30°
@®)40° ® 50°
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/x =180°—-60°—y°
=180°-60°-40°
=80°

L Lx— /Ly =80°-40°=40°
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(BPY = /PDB = 55°

(DPB = 180° — (55° + 38°) = 87°
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AM = VOA2-OM2 = VRZ -2 = V48 =43
AB = 2AM = 2x4V3 = 83(cm)
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@® 312 2)256 ® 212 @ 200 ® 180

AHZYY PQCD ©f|A 2y = /PDC = 104°
A28 ABQP oA /BAP = 76°

Lx =2 X T76° = 152°

Sox 4y =152° + 104° = 256°
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(ATP = /ABT = 32°
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@® 11° @ 13° ® 14° @ 17°

= BP,/BTP = 54° & @
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/P = 54°
(BTP = /TAB = 54°
/ABT = 108°

£ATB = 180° — 54° — 108° = 18°
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@ 5 cm @ S cm @ 13cm
2
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AE=10-(x-10)=20-x
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A0 9 HtAEE x5l BD=BE =x
AD=AF=6°]22 AB=6+x,
CE=CF=9°22 BC=9+x

(64 x)2 + (x+9)2 = 15
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(x+18)(x-3)=0

L x=3
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1
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WA™sta 2COD = 40° & o}, /B + /E 9]
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@® 180° @ 185° ® 190° @ 195° @ 200°
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(B+/AEC = 180°, /CED = 40°x
L 20°
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S /B4 /E=180°+20°=200°




20. A,B = AE°] MN, F$40] C ¢l 6kl 9]9] Hol1l, P = 1Hix]& CN
9] Holt}t. oACPB 7F 5t WAHE of, ,CAP = /CBP = 10°,
/APC = 30° ¢ ©ff, /BCN &?

@ 10° @ 15° @20° @ 25° ® 30°

S5 ~
YHA CP,BEIFIOY
/APC = 30° ,

(AOC = 2/APC = 60° (Y52t A7),

LCOP = 2/CAP = 20° ({527}t Z417}

CA =CB (Y125) 0|22 @9 o7} ZOoH F47te] IV
2,

. LAOC = £/COB = 60° ,

. ZBOP = 60 — 20 = 40°

=2
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.. /BCN = /BCP = %ABOP = % x 40° = 20°




